
             Departmental Examination Urban Local Bodies, September 2022 

             Group A Paper II     Paper: Elementary Commercial Bookkeeping 

 

Time Allowed 1.30 hrs.                                                             Max. Marks. 50 

 

Note: - Question Number 1 and 2 is Compulsory and attempt any two of the remaining question. 

Solution1 

Trading and Profit and Loss Account 

for the year ended March 31, 2022 

Expenses/Losses Amount Rs Revenues/Gains Amount Rs 

Purchases less return 1,60,000 Sales less return 5,20,000 

Commission on purchases 2,000   

Carriage on goods purchases 8,000   

Manufacturing expenses 42,000   

Factory lighting 4,400   

Dock and Clearing charges 5,200   

Gross profit c/d  2,98,400   

 5,20,000  5,20,000 

 

Expenses/Losses Amount Rs Revenues/Gains Amount Rs 

Carriage on sales 3,500 Gross profit b/d 2,98,400 

Advertisement 7,000 Interest on investment 4,500 

Excise duty 6,000 Discount on purchases 3,400 

Postage and telegram 800   

Fire Insurance premium 3,600   

Office expenses 7,200   

Audit fees 2,700   

Repairs to plant 2,200   

Incidental trading expenses 3,200   

Sales tax paid 12,000   

Discount allowed 2,700   

Net profit  2,55,400   

 3,06,300  3,06,300 

 

Balance Sheet as at March 31, 2022 

 

Liabilities Amount Rs Assets Amount Rs 

Bank overdraft  30,000 Cash in hand  2,500 

Creditors 61,000 Debtors 80,000 

Capital                   1,00,000 

Add Net profit     2,55,400 

                              3,55,400 

Less Drawings     (8,000) 

                             3,47400 

Less Income tax (24,000)  

 

 

 

 

 

3,23,400 

Closing stock 76,000 

  Investment 30,000 

  Motor car 60,000 

  Plant 1,53,900 

  Patents 12,000 

 4,14,400  4,14,400 

 

Solution 2 

Journal 

Date     Particulars  L.F.   Debit   Credit 

Amount   Amount 



Rs.   Rs. 

(i) Cash A/c Dr.        6,00,000 

To Capital A/c         6,00,000 

(Business started with cash) 

(ii) Bank A/c Dr.        4,50,000 

To Cash A/c         4,50,000 

(Cash deposited into the bank) 

(iii) Plant and Machinery A/c Dr.      2.30,000 

To Cash A/c         30,000 

To Creditors A/c         2,00,000 

(Purchase of plant and machinery by 

paying Rs. 30,000 cash and balance 

on a later date) 

(iv) Purchases A/c Dr.       85,000 

To Cash A/c         40,000 

To Creditors A/c         45,000 

(Bought goods for cash as well as on 

credit) 

(v) Creditor’s A/c Dr.       2,00,000 

To Bank A/c         2,00,000 

(Payment made to the supplier of plant 

and machinery) 

(vi) Cash A/c Dr.        70,000 

To Sales A/c         70,000 

(Sold goods on profit) 

(vii) Drawings A/c Dr.       35,000 

To Cash A/c         35,000 

(Withdrew cash for personal use) 

(viii) Insurance A/c Dr.       2,500 

To Bank A/c         2,500 

(Paid insurance by cheque) 

(ix) Salary A/c Dr        5,500 

To Outstanding salary, A/c        5,500 

(Salary outstanding) 

(x) Furniture A/c Dr.       30,000 

To Cash A/c         30,000 

(Furniture purchased for cash) 

Total         17,08,000  17,08,000 

 

 Solution  Q.3) (a) What is Single Column Cash book? Give Example 

Single Column Cash Book 

The single column cash book records all cash transactions of the business in a chronological order, i.e., it is a 

complete record of cash receipts and cash payments. When all receipts and payments are made in cash by a 

business organisation only, the cash book contains only one amount column on each 

(Debit and credit) side. 

 

Cash Book 

Dr.           Cr. 

Date  Receipts      L.F. Amount  Date   Payments  L.F.   Amount 

Rs.        Rs. 

Fig. 

 

Solution Q.3) (b) 

Bank Reconciliation Statement of Anil & Co. as on August 31, 2022 

Particulars        (+)    (–) 

Amount    Amount 

Rs.    Rs. 

1. Balance as per cash book       54,000 - 

2. Cheques issued but not presented for payment    20,000 - 

3. Cheques deposited but not credited by the bank -       5,400 



4. Bank incidental charges debited by the bank -        100 

5. Balance as per passbook -         

 68,500 

74,000    74,000 

 

Solution  Q.4)   (a) 

Errors of Omission 

The errors of omission may be committed at the time of recording the transaction 

in the books of original entry or while posting to the ledger. These can be of two types: 

(i) error of complete omission 

(ii) error of partial omission 

When a transaction is completely omitted from recording in the books of original record, it is an error of 

complete omission. For example, credit sales to Mohan Rs. 10,000, not entered in the sales book. When the 

recording of transaction is partly omitted from the books; it is an error of partial omission. 

If in the above example, credit sales had been duly recorded in the sales book but the posting from sales book to 

Mohan’s account has not been made, it would be an error of partial omission. 

 

Solution  Q.4)   (b) 

Straight Line Method 

This is the earliest and one of the widely used methods of providing depreciation. 

This method is based on the assumption of equal usage of the asset over its entire useful life 

It is also called fixed instalments method because the amount of depreciation remains constant from year to year 

over the useful life of the asset. According to this method, a fixed and an equal amount is charged as 

depreciation in every accounting period during the lifetime of an asset. The amount annually 

charged as depreciation is such that it reduces the original cost of the asset to its scrap value, at the end of its 

useful life. This method is also known as fixed percentage on original cost method because same percentage of 

the original cost (infact depreciable cost) is written off as depreciation from year to year. 

The depreciation amount to be provided under this method is computed by using the following formula: 

Depreciation = 

Cost of asset - Estimated net residential value 

Estimated useful life of the asset 

Rate of depreciation under straight line method is the percentage of the total cost of the asset to be charged as 

deprecation during the useful lifetime of the asset. Rate of depreciation is calculated as follows: 

Rate of Depreciation = 

Annual depreciation amount/Acquisition costx× 100 

Consider the following example, the original cost of the asset is Rs. 2,50,000. 

The useful life of the asset is 10 years and net residual value is estimated to be Rs. 50,000. Now, the amount of 

depreciation to be charged every year will be computed as given below: 

Annual Depreciation Amount − 

= 

Acquisition cost of asset - Estimated net residential value/Estimated life of asset 

 

Rs. 2,50,000 -Rs. 50,000 /10 = 

     i.e. Rs. 20,000 

 

 

Solution Q5  

1 (ii), 2 (iii), 3 (iv), 4 (iv), 5 (iv),  
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